23x12 =

389-108 =

25x3x4x13=

285+398=

434 : 5=

99 x 78=

456 — 295=

6x2x50x9=

341+253=

1433 : 50=

547 — 306=

5x7x8x2=

27+354+34+15+23+6=

27 x 90=

352 -220=

236+180=

245 : 50=

25x9x8x4=

43x11=

328 —190=

151+330=
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23x10 + 23x2=230+46 = 276
(389-8) — (108-8)= 381-100=281
(25x4)x(3x13)=100x39=3900
283+(2+398)=283+400=683
(434x2):(5x2)=868:10=86,8
100x78 — 1x78=7800-78=7722
(456+5) — (295+5)= 461-300=161
(2x50)x(6x8)=100x54=5400

300+(41+253)=300+294=594
(300+200)+(41+53)=500+94=594

(1433x2):(50x2)=2866:100=28,66
(547-6) — (306-6)= 541-300=241

(2x5)x(7x8)=10x56=560

(27+423)+(35+15)+(34+6)=50+50+40=

=140
100x27 — 10x27=2700-270=2430
(352-20) — (220-20)= 332-200=132

216+(180+20)=216+200=416
(200+100)+(36+80)=300+116=416

(245x2):(50x2)=490:100=4,9
(25x4)x(9x8)=100x72=7200

43x10 + 43x1=430+43 =473
(328+10) — (190+10)= 338-200=138

100+(51+330)=100+381=481
(100+300)+(51+30)=400+81=481
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